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Relação do aço

Baldrame Muro: B1 B2
B3 B4
B5 3xB8
B9 P5
3xP6 V1
V2 V3
V4 V5

Topo Muro: B10 B11
P1

AÇO N DIAM
(mm)

QUANT C.UNIT
(cm)

C.TOTAL
(cm)

CA60 1 5.0 14 230 3220
2 5.0 55 196 10780
3 5.0 20 72 1440
4 5.0 2 190 380
5 5.0 6 180 1080
6 5.0 10 86 860
7 5.0 9 108 972
8 5.0 9 37 333
9 5.0 4 232 928

10 5.0 111 88 9768
11 5.0 4 226 904
12 5.0 4 174 696
13 5.0 4 224 896
14 5.0 4 222 888

CA50 15 6.3 30 72 2160
16 8.0 2 162 324
17 8.0 2 184 368
18 8.0 2 186 372
19 8.0 2 208 416
20 8.0 2 326 652
21 8.0 3 348 1044
22 8.0 2 416 832
23 8.0 2 446 892
24 8.0 3 595 1785
25 8.0 3 603 1809
26 10.0 28 106 2968
27 10.0 4 VAR VAR
28 10.0 24 VAR VAR
29 10.0 4 148 592

Resumo do aço

AÇO DIAM
(mm)

C.TOTAL
(m)

QUANT + 10 %
(Barras)

PESO + 10 %
(kg)

CA50

CA60

6.3
8.0

10.0
5.0

21.6
85

58.8
331.5

2
8
6
-

5.8
36.9
39.9
56.2

PESO TOTAL
(kg)

CA50
CA60

82.5
56.2

Volume de concreto (C-25) = 3.12 m³
Área de forma = 30.84 m²
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